Egrs W4 Siswati Written Assessment (grd3) - Marking Grid Fw4 V2

Last Updated: 1571049988000

Enumerator Name

Name Prompt Type Hint Linked grid score Options
Inr_Id Unique Learner ID  |open|Same number from linking form/ individual assessment of the learner|0
EMIS_Id School EMIS Numberjopen|EMIS must start with 8000 0
sch_name |School Name open 0
Inr_name |Learner Name open 0
Inr_surname|Learner Surname open 0
Linked
Name Prompt Type Hint grid Options
score
written_task _1_a|1. Bekahamba single|{Answer: ngasemfuleni, etjanini / Also accept: emfuleni DO NOT |0 1 "Correct answer, correct spelling"
kuphi Mvubu ACCEPT: vague answers or repetition of question. 2 "Correct answer, incorrect
naLogwaja? spelling" 0 "Incorrect” 99 "No
response” 98 "Writing is
unreadable/not possible words"
written_task _1_b|2. Bekadlani single|/Answer: tjani 0 1 "Correct answer, correct spelling”
Mvubu? 2 "Correct answer, incorrect
spelling" 0 "Incorrect" 99 "No
response” 98 "Answer unreadable/
not possible words"
written_task 1 _c|3. Logwaja single|Answer: Logwaja bekeva buhlungu/ Mvubu bekeme 0 1 "Correct answer, correct spelling"
bekammemetelani etukwelunyawo IwalLogwaja/. The answer must show that Rabbit 2 "Correct answer, incorrect
Mvubu? was hurt when Hippo stood on Rabbit. Accept either: - Logwaja spelling" 0 "Incorrect" 99 "No
bekeva buhlungu, - Logwaja bekatfukutsele, - Mvubu bekanyatsele response" 98 "Answer unreadable/
Logwaja not possible words"
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4. Yini indzaba
ucabanga kutsi
Mvubu akamange
ambone Logwaja?

written_task_1_d

single

Answer: Mvubu bekamkhulu kuLogwaja/ bekajabulela kudla tjani
anganaki lapho ahamba khona/ Logwaja bekasemvakwaMvubu -
Answer must give a reason why Hippo might not have seen
Rabbit.

0

1 "Correct answer, correct spelling"
2 "Correct answer, incorrect
spelling" 0 "Incorrect” 99 "No
response” 98 "Answer not readable;
not possible words"

5. Kwentekani
ngeboya
baMvubu?

written_task 1 e

single

Answer: washa, Logwaja watfumela Mlilo kutsi amshise - Answer
must relate to the story - Boya bakhe basha.

1 "Correct answer, correct spelling”
2 "Correct answer, incorrect
spelling" 0 "Incorrect" 99 "No
response” 98 "Answer not readable/
not possible words"

written_task 1 _f [6. Ngicabanga single|/Answer: C (also accept if student writes out answer c in the space |0 1 "Correct answer, correct spelling"
kwekutsi provided rather than circling answer) 2 "Correct answer, incorrect
endzabeni spelling" 0 "Incorrect” 99 "No
Logwaja response" 98 "Answer not readable;
ukhombisa kutsi not possible words"
Mvubu...
Linked
Name Prompt Type Hint grid Options
score
written_2_a|1. Whatis  [single|/Asnwer: Jabu - spelling must be correct 0 1 "Correct" 0
the name of "Incorrect” 99 "No
the boy in response” 98
the story? "Answer not
readable/ words no
possible"
written_2_b|2. Where did |single{Answer:In the fields (veld) / behind Jabu’s house. - Unacceptable: outside, garden, inside, in |0 1 "Correct" 0
the boy and the house; repetition of question "Incorrect” 99 "No
dog go and response" 98
play one "Answer not
day? readable/ not
possible words"




Linked

Name Prompt Type Hint grid Options
score
written_2_c¢|3. What single|Answer: He got lost. Accept also: he ran away - Unacceptable: answer unrelated to story (e.g.|0 1 "Correct" 0
happened to he died) or repetition of question. "Incorrect” 99 "No
the dog? response" 98
"Answer not
readable/ not
possible words"
written_2_d|4. Why did  |single{Answer: He was sad/was crying because his dog was lost/he could not find his dog. Accept |0 1 "Correct" 0
the boy have also: he did not know what to do; he was alone - Unacceptable: answer not related to story "Incorrect” 99 "No
tears in his e.g. someone hit him, he was a crybaby, he was very happy the dog was gone; repetition of response" 98
eyes? question or repeated sentence from story e.g. “Jabu got tears in his eyes and went home” "Answer not
readable/ not
possible words"
Name Prompt Type Hint Linked grid score Options
written_3_a|1. 8+3 single|{Answer: 11 |0 1 "Correct" 0 "Incorrect” 99 "No response" 98 "Answer not readable"
written_3_b|2. Uhhafu wama-28|single|/Answer: 14 |0 1 "Correct" 0 "Incorrect” 99 "No response" 98 "Answer not readable"
written_3 ¢|3.20-6 single|Answer: 14 |0 1 "Correct" 0 "Incorrect” 99 "No response" 98 "Answer not readable"
written_3 d4.24 + 3 single(Answer: 8 |0 1 "Correct" 0 "Incorrect" 99 "No response" 98 "Answer not readable"
written_3 e[5. 7 x 2 single|/Answer: 14 |0 1 "Correct" 0 "Incorrect" 98 "No response" 98 "Answer not readable"
written_3 f 6. 400 +206 single|{Answer: 606|0 1 "Correct" 0 "Incorrect” 98 "No response" 98 "Answer not readable"
written_3 g|7. 105 -7 single|{Answer: 98 |0 1 "Correct" 0 "Incorrect” 99 "No response" 98 "Answer not readable"
written_3 h|8. 270 + 28 single|{Answer: 298|0 1 "Correct" 0 "Incorrect” 99 "No response" 98 "Answer not readable"
written_3 i 9. 121 — 39 single|Answer: 82 |0 1 "Correct" 0 "Incorrect”" 99 "No response" 98 "Answer not readable"
written_3 j |10. (4 x10) +7 single|{Answer: 47 |0 1 "Correct" 0 "Incorrect”" 99 "No response" 98 "Answer not readable"




